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QUESTION 1

View the exhibits. 

Examine the output of sar command and the top command in the Exhibits. Which statement is the correct interpretation
of this data? 

A. The system is running low on swap space and memory. 

B. CPU is Idle and the system has plenty of free memory available. 

C. The CPU utilization is high and one process is using most of the CPU. 

D. The system is idle with very little memory, CPU, and I/O utilization. 

Correct Answer: C 

From the top exhibit we see that npviewer.gin uses 73.4% of the available CPU. 

Note: 

* 

sar - Collect, report, or save system activity information. 
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* 

The sar command writes to standard output the contents of selected cumulative activity counters in the 

operating system. The accounting system, based on the values in the count and interval parameters, 

writes information the specified number of times spaced at the specified intervals in seconds. 

* 

sar u 2 5 

Report CPU utilization for each 2 seconds. 5 lines are displayed. 

 

QUESTION 2

Which two statements are correct about the Oracle ASMLib library? 

A. Oracle ASMLib is an optional support library for the Automatic Storage Management (ASM) feature. 

B. To use ASMLib library, you have to recompile it first for the Unbreakable Enterprise Kernel. 

C. Oracle Automatic Storage management (ASM) requires Oracle ASMLib library to function completely. 

D. Oracle ASMLib kernel driver is included in the Unbreakable Kernel. 

Correct Answer: AD 

A (not C): ASMLib is an optional support library for the Automatic Storage Management feature of the 

Oracle Database. 

ASMLib allows an Oracle Database using ASM more efficient and capable access to the disk groups it is 

using. 

D (not B): The Oracle ASMLib kernel driver is now included in the Unbreakable Enterprise Kernel. No 

driver package needs to be installed when using this kernel. 

 

QUESTION 3

Identify the option with two files that are found in the /etc/sysconfig directory. 

A. /etc/sysconfig/autofs and/etc/sysconfig/authconfig 

B. /etc/sysconfig/ifcfg-eth0 and/etc/sysconfig/atd 

C. /etc/sysconfig/resolv.conf and/etc/sysconfig/network 

D. /etc/sysconfig/resolv.conf and/etc/sysconfig/grub.conf 

Correct Answer: A 
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* 

The /etc/sysconfig/autofs file defines custom options for the automatic mounting of devices. 

* 

The /etc/sysconfig/authconfig file sets the kind of authorization to be used on the host. 

Note: * /etc/sysconfig/network 

Used to configure networking options. 

Incorrect: Not C, Not D: 

* The program that resolves hostnames to IP addresses reads a file called resolv.conf. This file is located in
/etc/resolv.conf directory. 

 

QUESTION 4

View the cron job example below. How often will this cron job run? 0 */ 5 * * * command 

A. every 5 minutes 

B. every 5 hours 

C. every 5 days 

D. every 5th month 

Correct Answer: B 

Execute a cron job every 5 Hours 

The second field is for hours. If you specify * in this field, it runs every hour. If you specify */5 in the 2nd field, it runs
every 5 hours as shown below. 0 */5 * * * /home/ramesh/backup.sh 

 

QUESTION 5

The ASMlib on Linux us designed to ___________. 

A. Make managing ASM volume easier. 

B. Make managing ASM volumes easier and provide a performance improvement over ASM volumes alone. 

C. Provide load balancing across multiple volumes. 

D. Allow the user to list contents of the volume from the OS command line. 

Correct Answer: B 

ASMLib is an optional support library for the Automatic Storage Management feature of the Oracle 

Database. 
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ASMLib allows an Oracle Database using ASM more efficient and capable access to the disk groups it is 

using. 
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